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Exam Time: 09:00-12:00

Examination: 1. Course Code - Ph.D.
2. Field of Study - KOREAN (KORH)

SECTION 1 - SECTION 1

Question No.1 (Question Id - 10)

Given below are two statements. One is labeled as Assertion A and the other is labeled as
Reason R.

Assertion A :
The empirical approach is an evidence-based approach.
Reason R:

It relies on direct observation and experimentation in the acquisition of new knowledge.

(A) O Both A and R are true and R is the correct explanation of A (Correct Answer)
(B) O Both A and R are true, but R is not the correct explanation of A

(C) O Astrue, but Ris false

(D) O As false, but R is true

Question No.2 (Question Id - 4)
Data collection is considered as :
(A) O Secondary
(B) O Tertiary
(C) O Primary (Correct Answer)
(D) O None of these

Question No.3 (Question Id - 6)
Conclusion in a research comes after :
(A) O Objectives of the study
(B) O Hypothesis of the study
(C) O Analysis of the study (Correct Answer)
(D) O None of these

Question No.4 (Question Id - 14)
Given below are two statements :

Statement | :

The null hypothesis always predicts that there will be no differences between the groups
being studied.

Statement Il :

The alternate hypothesis predicts that there will be a difference between the groups.

(A) O Both Statement | and Statement Il are true (Correct Answer)
(B) O Both Statement | and Statement Il are false

(Cr O Statement s troe and-Statement s farse
) www.FirstRanker.com




:I », FirstRanker.com

!D) Fir Stateriéni 1 s hids but Statemepb Il S tRanker.com www.FirstRanker.com

Question No.5 (Question Id - 7)
Hypothesis consists of :

A. Independent Variable
B. Dependent Variable
C. Control Variable

D. Quantitative Variable

(A)O A,B&D
(B) O A, B & C (Correct Answer)
(C)O B,C&D
(D)O A,C&D

Question No.6 (Question Id - 2)
A key feature of all hypotheses is that each must make a :
(A) O Analysis
(B) O Evaluation
(C) O Conclusion
(D) O Prediction (Correct Answer)

Question No.7 (Question Id - 5)
Questionnaire is a research method used for :
(A) O Measurement technique

(B) O Data analysis technique
(C) O Tool for data collection (Correct Answer)
(D) O Making conclusion

Question No.8 (Question Id - 8)
Methodology consists of :

A. What references will be used ?
B. What the sample would comprise ?
C. How primary research methods would be employed ?

D. How variables will be used ?

(A) O B & C (Correct Answer)
(B)O A&D
(C)O B&D
(D)O C&D

Question No.9 (Question Id - 12)
Given below are two statements. One is labeled as Assertion A and the other is labeled as
Reason R.

Assertion A :
Tourism in South Korea has been impacted due to the emergence of Corona virus.

Reason R :

o H H H=o- | <l + 1okl ot H H Al A + N
LUTUTIA VITUO To dIT TMTUTPTTTUTTIU VAalrtdult dimfu tUUlIolTT 1o a UTUTTIUTTIU vAdTlTdJTG.
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O Both A and R are true and R |sv¥he correc} exrnanatlon of A (Correct\anwe

(B) O Both A and R are true, but R is not the correct explanation of A
(C) O Aistrue, but Ris false
(D) O As false, but Ris true

Question No.10 (Question Id - 9)

Given below are two statements. One is labeled as Assertion A and the other is labeled as
Reason R.

Assertion A :

The statement of the problem could be a description of the current situation or a gap in
scientific knowledge.

Reason R :

It explains the reasons why the study should be undertaken, how urgent or important it is,
and what contributions your research will make to your area of study.

(A) O Both A and R are true and R is the correct explanation of A (Correct Answer)
(B) © Both A and R are true, but R is not the correct explanation of A

(C) O Aistrue, but Ris false

(D) O Ais false, but R is true

Question No.11 (Question Id - 3)
Choose the most incorrect answer.

The advantages of mail questionnaire are :

(A) O Higher cost (Correct Answer)
(B) O Greater anonymity

(C) O Reduction in biasing error

(D) O Accessibility

Question No.12 (Question Id - 1)
The purpose of research is to :
(A) O Find the solution

(B) O Find the conclusion
(C) O Identify the problem (Correct Answer)
(D) O None of these

Question No.13 (Question Id - 11)
Given below are two statements :

Statement | :
Plagiarism means using someone’s ideas but not credit that person.
Statement Il :

In spite of giving credit the source but use its exact words without using quotation marks or
block indentation could also come under plagiarism.

(A) O Both Statement | and Statement Il are true (Correct Answer)
(B) O Both Statement | and Statement Il are false
(C) O Statement | is true and Statement Il is false

(D) O otatement1 Is 1alse, but statement Il Is true
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Given below are two statements :
Statement | :

“If people exercise for 30 minutes per day at least three days per week, then their
cholesterol levels will be reduced.”

Statement Il :

The null hypothesis would predict that the exercise group and the no-exercise group will not
differ significantly on levels of cholesterol.

On the other hand the alternate hypothesis would predict that the two groups will differ
significantly on cholesterol levels.

(A) O Both Statement | and Statement Il are true (Correct Answer)
(B) O Both Statement | and Statement Il are false
(C) O Statement | is true and Statement Il is false
(D) O Statement | is false, but Statement Il is true

Question No.15 (Question Id - 15)
Match List-l with List - I :

List -1 List -1l

uses interviews as well as analysis of
(A) [Hypotheses (0 historical materials

Quantitative . . . .

(B) research (1) |must be consistent with prior evidence

() Qualitative (1) are the researcher’s attempt to explain the
research phenomenon

(D)|Theory (IV)|uses numbers and statistical methods

(A) O (A)-(llN), (B) - (IV), (C) - (1), (D) - (Il) (Correct Answer)
(B) O (A)-(IN), (B)-(I), (C) - (IV), (D) - (1)
(C) O (A)- (), (B)- (1), (C) - (IV), (D) - (I)
(D) O (A)- (1), (B)- (IV), (C) - (1), (D) - (1)

SECTION 2 - SECTION 2

Question No.1 (Question Id - 43)
IS S MO0 M RtAAEHA A GE|0f BISS0| E7|8HM oM Y22 T HE &
Bi2 2 ololatm FL|7t 2

(A) O
(B) O
(€O
(D) O

a2

rD
fo mx

I8 (Correct Answer)

ot for

_—

nx =

Question No.2 (Question Id - 36)
CHSOM YEfEXCE Z7YE HO| YEHE DEAR.
(A)O —z/o2
B)O —&g1=
(C) O —epat
(D) O -ohof (Correct Answer)
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Mete| =r= FAA0|YUS LI ?

(A) O FAt

B)O =gt

(C) O #AZF (Correct Answer)

D)O Mg

Question No.4 (Question Id - 85)
otz & 71e| =&ofcyst 2F YL Ct
=& CHOHEI =2 MA IO 7HE Z2 =422 2410 ULt
F=En: CHotEl=2 Qe 4%t A8 545t QUCt

Pl FIS B o2 o MM S T SHE ES LEAL.

(A) O F¥ 13 FE 1 2F AHHO|LC}, (Correct Answer)
(B) O FE 11 FZnEF AHA0|Ct

(C)O FHI2 A0 = 1= AHANO|C

(D) O FEI12 AHANO|L FZ 1l = Ar=o|C},

Question No.5 (Question Id - 50)
HhE 2, X2, SR Tt Lt D O| RO CHo = HE L2AR.

i B B — )

FHA: 0|52 RO AQo|2t fEL

O|% B: At S MM Z 5t XtAo| 29S8 &% 17tel 21} 7HX|E O|F 10X} 6= Ef &
ot g2 X% 7| W= 0|Ct.

(A) O FHE A2L0|F B 7= Ct XLt (Correct Answer)

(B) O FE A= HX|TH 0|7 B 7F &EX| LT,

(C)O FH A= E2X|Tt 0|7 B= .

(D) O FZARAO0|7B=CSE[CH

Question No.6 (Question Id - 72)
ChEtE2 A0S 25 D2HAIL

NEAEE [ e AHS AR ESNT FE 255 ©
) N SERE
(B)|[&5AtO] () 0% 7|80 St
©)aaas jangéd s ds
Al KU A2 S22 EO01SED, O T AFEH2 At
oelssz jov) 2 iﬁrsrctn 22 Foretn, 0j% A
= S )

(A) O (A)-(I), (B)-(I), (C)~(IV), (D)~(ll) (Correct Answer)
(B) O (A)-(I), (B)-(I), (C)-(1), (D)-(IV)
(C) O (A1), (B)-(I1), (C)-(11), (D)-(IV)
(D) O (A)-(IV), (B)-(1), (C)-(1), (D)-(IN)

Question No.7 (Question Id - 73)
ME ZE2T2 2830 /IXIe O] X2 Ao &t &H|, F
=2 BAID Je ZM RO AFLO|C

i
ok
=
o
=
oln
>

D= 83%9

A)O 4=3

(B) O F8 (Correct-Answer)
€O
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Question No.8 (Question Id - 89)

Of2f 2|AtE & 2|2 M7t AT OFA|OtLE HEE AFE 2l 2[AH=
A.  H7HEF A 5| AHHyundai Development Company)

B.  $t3t1&(Hanwha Group)
C.  DO[2iof| T2 (Mirae Asset Daewoo)

D. f

o>

4% & ¥ (Samsung Heavy Industries)

(A) O A&B
B)O C&D
(C) O A &C (Correct Answer)
(D)O B&D

FALUI 2

Question No.9 (Question Id - 35)
22 Atg S2t0] Cheh 2@ HOo| ot

FYE A =E2 XSS LEHHCE

OlF B: =22 &a 10 §|o| ‘ool FEUCE ‘0’2 HIY7| I ZO|CE
(A) O Xt 0|7} Ct HCL. (Correct Answer)

(B) O =¥2 %1 o|lge E2ltt

(C)O X2 E2|X|Tto|F& ¥t

(D) O F=Futo|g = ot Salct

Question No.10 (Question Id - 86)

CHet2l=2 X ZTHAADE I XY= 0| A2 Bt & F A2 XL} 2

(A) O Terminal High Altitude Area Defense (Correct Answer)
(B) O Technical High Altitude Area Defense

(C) O Technical High Altitude Area Deterrence

(D) © None of these

Question No.11 (Question Id - 59)
ZM EfE Y| CHE 0|52 2AYULIL 2
(A) O olxf=
(B) O 0|44l (Correct Answer)

(C) O o]l
D) O o=

Question No.12 (Question Id - 17)

ChE EHO{o ES2 St8 DEAR.

7HEsIC

—

(A) O

a3t 20| gi0| Z-BSICt (Correct Answer)

Zich
B)O =0l &
C)O 25

= 2

NS AALLO8S J2[d H2 BIAE
E

E

=51 0] ULt

=
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Question No.13 (Question Id - 87)

Ol =4 LIFMER} B0= 2|2 ZHEH| Saiet Ao Chsl ot=0i|M &S 2pLt. A
MO dE EASUI?
(A) O 2017
(B) O 2018
(C) O 2019 (Correct Answer)
(D) O 2020
Question No.14 (Question Id - 77)
A0 ARHSO| 224 I (= 20| =2 S0t OFEEA USASHCH ZO[LE TS T4
St AFE RS LT
A)O &H
(B) O Xt (Correct Answer)
(C) O uist
(D) O Hx}7|
Question No.15 (Question Id - 45)
C22 ot= 20 2 48712 4&of| ot 7|=0|tt. ChZ2| & Ts0f s %= 5S 2
EAL.
e A otE3 HE|d 320 A &[0 AE LX|7t O| R AL
= B: oh2al0| E|ZE[0 ot 2 22| 0| O| R X[ X| AL,
(A) O Zl= A%t B = Ct XCt.
(B) O %l= A% B & Ct =2/t
(C) O Zl= A= %11 B= =2IL}. (Correct Answer)
(D) O Tl& A= E2[1 B= %Lt
Question No.16 (Question Id - 37)
Che CHo| Sl dd BE ol RA L7t ?
*** UNESCO, ROK, SCUBA, RADAR ***
(A) O EX}0] (acronym) (Correct Answer)
(B) O &% (blending)
(C) O mae
(D) O gt
Question No.17 (Question Id - 32)
L2 el¢tel ¢1010f Ceh 2 HOo|Ct,
s A:
ALHO R O|FO0M U= MAE sd5Hoz BOAM B35l E4E 2202t o
Ct.
H=B:
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Ct.

(A) O A2B = ChSC

(B) O A= %1 B= E2|L}. (Correct Answer)
(C) O A= 2|1 B= %O

(D) O A2tB = ChS2|0t

Question No.18 (Question Id - 53)

chgol = XHE -E— 45|9] “E[Z A|Z-LALJ 0] S0 At Lt o] “d 3]0 Chet 23
O|Ch &&= AS LEAL

A, Od Z& AHEO|CH

B. T&EXNQ OG0l it o|0[X|et IS HESHL O ddS Z=THLt

C. ZIRZTHQ 7t= 2A KoM Azte = M JHQ10] OfH OfLYf, ot E2M 27 &= of
A

(A) O AQB 2 C 7l 25 UL}, (Correct Answer)
(B) O AetB oot

(C)O BefcCghart,

(D) O =& EgIC},

Case Study - 19 to 20 (Question Id - 96)

Question No.19 (Question Id - 97)

g 234 UE AR89 W9 A3 AT A AL
Since neither of these men has proposed, you mav be counting vour chickens before
they're hatched.

O 150|828 37| Mojl Fhlo| HES A .
(B) O 50| A2e 10|17 Mo =S A J3H =L 70| ZC.
(©)O 50| 22 7| Mo SHES A5
(D)O L% YMA LA SHE OIAX| & 0| ELt. (Correct Answer)

Question No.20 (Question Id - 98)

O Rzl g8 27st= A0| oftLLCt.
(B) O 2l =& 27¢t= 40| ofLLt.
(C)O 227k @78t= 242 Ot CiEtst Zio|ct.
(D) O 2|7l 278t= 2412 lithst 20| OfL|C}, (Correct Answer)

Question No.21 (Question Id - 76)

ol A5 (1956)2 T2 gt )BTt &Y BHIIZS M0 BT Y
o £opel Mweiol S0t olefsl sge siRUss HYUNOR HBY + Slrte Jhsd
£ 2UITSD 93300} anos YUUN UTY, OHUS FTNE U2 Hovke
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(A) O mol=

(B) O =%t
©)O
(D) O

www.FirstRanker.com

pa
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My mx
mn

g (Correct Answer)
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Question No.22 (Question Id - 29)
CHZo| ShAEO{Qt 1 20| BHA A A

r
S
o
|
[
>
to

oH|Bel ZJ|5tD H 2
®| T2 2B A ) Ixoro) wha Ax2 RpAIS
— H[CF 90 22 HalE0] =2 ¥
@ [H=x| o)y SLEE5 TR
B e O I EE EEEE
DIEEE! (V)[= 2l0f Mal7F Hefz

(A) O (A)-(1), (B)-(1), (C)-(II), (D)-(IV)
(B) O (A)-(lin, (B)-(1), (C)-(1V), (D)-(Il) (Correct Answer)
(C) O (A)-(Il), (B)-(IV), (C)-(1), (D)-(1N)
(D) O (A)-(IV), (B)-(IN), (C)-(11), (D)-(1)

Question No.23 (Question Id - 27)

CtE2 20 2ot B YLICE O 2|07t 25 S A& WS NEAL.

— A
ol &2 o BT} EF O 20| HES
(A) () |2==t7h = Qh &|0f B £0] AH=5tCt
(B)|LHE3tCE () I FE 720 H2 =0 ALE
(C)|[H= =3}t [(II)[20] XX 1 0| 2|1 7|20] gict
M2 7{0| |0 2 7 Z0} 20| 2A| S A A2

— A [ =2 A E =]

(D)|| 7+ &It (IV) ; 710 9ic}. B

(A) O (A1), (B)-(I), (C)-(IV), (D)-(I1)
(B) O (A)-(I), (B)-(IV), (C)-(I1), (D)-(1)
(C) O (A)(), (B)-(In), (C)-(IV), (D)-(I1)
(D) O (A)-(IV), (B)-(Ill), (C)-(1), (D)~(ll) (Correct Answer)

g O w >
o ]
pe rg
Ho
ofn
o
batly
|
rir
113

= l_o z
Hu
o

3o o
oY
2t
2
=t
Hel
m
i
oy

Question No.24 (Question Id - 48)

CtEol AlE 22 AlQ0) Ciet @B YLICE &= WS DEAL,

=
“HS Lofdte 0222/ B E S0 7h= A S AR OFX| ./
2|3 LisHe| 0% 28/ ZO{7}OFHICE/

191730 WYO|AM ZS4SIALCE

MR S FHo el 4N k|t ObFS LIEH D ULt
2
—

(A) O ADHQHC}

(B) O A%t BEH LY,

(C) O B2t Cot gt}

(D) O B2t cet DY ULt (Correct Answer)

estion No.25 estion Id - 66 .
Questi (Questi ) www.FirstRanker.com
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(A) O ofAr|ofo| &2

(B) O o] S & (Correct Answer)

(C)O st=ol &
(D) O

www.FirstRanker.com

Question No.26 (Question Id - 22)
CtE2 o= 7t oiet Li&O|Ct.

Assertion A

YutH o Shao| HEM J1= WEj = JpR Aol (itZ0|iC)
A 20 O| 2 0{ &l QI G| H|SH CH7IFH 2 F 2 A=t Al & &
= 715 YEf S 2ot

Reason R :

HEA O 71F LHO| A= OFHX| 7} TQtO| 71O 2 M 7IE S M QK|
Ot X|o| MR|E £S5t OfHX|o| A= [IFHH O Bt HALH A
27t =S5tH 715 X0 CHsiM = & AtEto] #e|ef o|fFE L

Answer)
A is correct, but R is incorrect.
A is incorrect but R is correct.

Both A and R are correct and R is the correct explanation of A.
Both A and R are correct, but R is NOT the correct explanation of A. (Correct

J4E0| 2ot 0|zl
£HSHEIE 86

Question No.27 (Question Id - 78)
oh=Ql2 YA 7S A ottt 4, §E HEE, ©HR
ot Siopct Sote = W2 7| E Yol

—

y T 1,

AZM SX'= FRAYLIIL?

EPS ==

N

rr
o0
nz
o
k1
1=
ne

(M) O 2858152 BH. 53| S, 25 AWo|H 2 Y= #r,

(B) O o2 128 22%. i 5 Lol 7% B ol 7% 2 HO|Lh. (Correct Answer)
() O ol ZHEFSHA XILhE TIAL

(0)O £20| 0|5 o4 A5l &

Question No.28 (Question Id - 42)

CS2 oh=2 2 Y2 2| otLtel ekobof| ciet 2Fo|ct. ofefel 3 & &2 HE 12
INE=
A BH2 = 47H|, 87X, 107 M 7t QUCE
B = 5ot ot 0| XA SR ULt
C Hitd=, ‘ME7p, TH7|mE 7t S2 2F0| ULt
D &&=z MoFLt
(A) O A2t BT
(B) O AefBet ot
(C) O Bet DTt
(D) O A%} B2t DT (Correct Answer)
Question No.29 (Question Id - 79)
ot ottt = =2 wrfet o1 AAES M0 Q40 HiX|SI0] ot ol A& SXS
S, 92, M3l 52 ARE HESIL UE X =AHEE FSOHRALE (19199)= -4, Of
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10

N LA HFS D2AR.

(A)O F=1t
(B) O 4y
(C) O 3.1 23 (Correct Answer)
(D) O LHol 3t= ZH e

Question No.30 (Question Id - 16)
Che CHO{o| YEH2 22 DEAR.

zte

(A) O 7|240|Lt M2t 0} 7} £YBHA] 2n S|

(8) O o= 8o} & Yo|Lt S V0| T3t 042l ZH| (Correct Answer)
(C)O 20| gof Ax3hx|ct

(D) O Zt70| LZ0f LIEFLER| St

Question No.31 (Question Id - 70)
Statement 1 :

Q&&= 5S0| 2 23 W82 X6t e = JA=HMES EF0| O|F0{H Of
H 24 J& 0| 7hs5tot

Statement 2

Q&2 &Rt Fx56H7| YsiMe 22H8 W82 AEsh= 0|C|o @Ho| 7|37}t =
O{ X{ Of StC}

(A) O Both Statement 1 and 2 are true (Correct Answer)
(B) O Both Statement 1 and 2 are false
(C) O Statement 1 is true but 2 is false.
(D) O Statement 1 is false but 2 is true.

Question No.32 (Question Id - 51)
Ch=2l A2 Al SOAM HOAl MLAIZE | AS DEAL.

A EHE
B. El==0EC=E
C. Hi¥
D. &of

(A)O AetBTH

(B)O BetD gt

(C)O ActcetD Bt

(D) O A 2l B 2} D 2 (Correct Answer)

Question No.33 (Question Id - 81)
2016-173 CHSHRI= O M Bf 28| DS HOof Cher Lol oolE F30[2f ngtL|7t?

[ o =]

e — |
A X=5Y
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c. ==

>
1o

Ctd
D. =&

0ot

9l

(A)O A,C&D

(B) O A, B & C (Correct Answer)
(C)O B,C&D

(D) O None of these

Question No.34 (Question Id - 99)
Ct2o| FO| HEO| =310 FEHSE DEAL,

“Too many cooks spoil the broth.”

(A) O Mz Az

(B) O A|=zto| gto|ct

C)O F9/ 9 97|

(D) O ALZ0| gto™ HY7} A2 2 ZiCE, (Correct Answer)

Question No.35 (Question Id - 82)
S0 =7 o K| =AHS Q| M 2t 2= b= 2| 2 O| /S LI 7L 2
(A)O zdE Exdmot UAY

(B) O =X| BAlet AFY
(C)O =gE EYmI LML (Correct Answer)
(D) O =X| RAlet AF2

Question No.36 (Question Id - 55)
Che2 2 & 23t Eae|A A4 2 HZst A0t BIZhof Y32 A2l ddE A2 12

L

Al2.

=& Mo} oae|A &d
EIERSES (A)

2ol M3t (B)

TEXH ENH
IEPNESYSE-TI(6))

(A) O (A): =& (B): 48T (C): 88
(B) O (A): &H (B): S5H (C): MHTH (Correct Answer)
C)O (A): BEH B): =M (C): MHH
D) O (A): AHH (B): EEH (C): =T

Question No.37 (Question Id - 21)
ChE2 220 Lok L OlL}.

Assertion A :

SERDE DAL YRULICH YO HBE DAL 20| OfLjEL ) BHY £2E BAlE
AZ zeta g

Reason R

TEESREHN Ot 2H2 7M1 UL YSCE 07| R E WSO 220 MU, &
BHZ2 YAt OFF 2| 0j2{2 YO|2t: ot &L T,
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(B) O Both A and R are correct, but R is NOT the correct explanation of A (Correct
Answer)

(C) O A'is correct, but R is incorrect.
(D) O Aisincorrect but R is correct.

Question No.38 (Question Id - 23)
CZo| BIZH| S0i4 €2 T2 NEAR.

2| OfHX|= 2= LS Fo Tl A A2 5t 10 SHA|L, 7HSOHE O 10| ot A=
Xelote{ i st M & = 22| 24

(A)O =
B)O 1
(€)O
D)O &

e,
[

t
SIC} (Correct Answer)

f

| QUEt

Rl
om L A rp
ox O 1=
M

(@)

Question No.39 (Question Id - 38)
212417 EOf = Yol 02 ZOA HMLZF“X|g H AlL?2td Y S [je] AHUH

s FAYLIT?

(A) O =
B)O HA
(C)O ==z
(D) O EH (Correct Answer)

Question No.40 (Question Id - 57)
S| HA At =T LTI ?

(A) O %|H| 2 (Correct Answer)
(B) O o]'gA
C)O MzUg
D) O <o

Question No.41 (Question Id - 102)
ChS 220 HYo 2 71 MAEst 42 DEA Q.

“The donor’s benevolent gift to the library helped it to become a leading source of classical
literature throughout the years.”

(A) O =20 Ciet O 7|SAte| ApdA el M=2 20| =470 ZMM 1H 29
o ME=HQI fHO| &= A= =2t

(B) O 7|2Atel Holo| 7|5E 1 M@= 80T 417t HEHel H 2eto| X7}
=== g,
(C)O £9U= A0 B2 ENE 7SRO 2M 1 EMBS £ SO £2F8|E 18 28

Lo =
o| At&lo| k| RUCt. (Correct Answer)
(D) O Moo 7|BAIIHE =2 7|RYeEM A M2 £H 52 1 Bt EME

S}wsla UACH

Question No.42 (Question Id - 25)
Cheol HIZH| SO{Z LTS B SHS N2A|Q.
S

b | = >=n
A4

=
-l = — — o
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B Firstranker's choice

(A) O v-7| LtEo0|ct,

(B) O v-£ FM|O|C} (Correct Answer)
(C) O N-2/&= 220|2{Ltet

(D) O v-LztH

www.FirstRanker.com
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Question No.43 (Question Id - 71)
oh= AtEE2| ohoj| THal SHA| 2ot :
(A) O CHE AtZHO| A ZALSICHE OFS 2 2 ChE STt
(B) O CHE AtZtof| A v &g ot
(C)O =Rt EE
(D) O

Question No.44 (Question Id - 18)
CH20l 01T & 1 90|17 HAE WS LEAL.

7|20| = AELCI HE20|= 0|
M AF 2 o E7LK| 7+ = = -
(A) i & X OS] 2o () |H BEAHLE At

~

OtF2| X7t FO{LICt StE2te O

et S0l H 3t =Lt Bf F0f £ AFZO] Sl

(B) (1)

o} o o

Ls—

Ab&0
Lt

WHAS =] lojz o 2o Lolst ozl aof

©) ME DA[7| gsCt

()

o2 AFEO| BiE =1 5 by

L S ©) L L Ol
e & ‘r‘loﬂ Ll'n_ AAEI'. 7|_ %E %7%1 HQE %E|'7|'%O|

[

(D) (V)

(A) O (A)-(In), (B)-(IN), (C)-(1), (D)-(IV)
(B) O (A)-(IV), (B)-(IN), (C)-(1), (D)-(I1)
(C) O (A)-(In), (B)-(1), (C)-(IN), (D)-(IV)
(D) O (A)-(I), (B)-(1), (C)-(IV), (D)~(Il) (Correct Answer)

Question No.45 (Question Id - 84)
Ofgff = 742l 282 FH ALM0|F R EXN=0| 20{JASLICL &e HSDEHAIR,
FH A OR=o MSH4Z QuItEH= 0=, A0 =7 X 220|H ot=2 2
N HAE W5l Ho{etn
O|f R: CHSHAI=2 1 QX A E A 0|ESHI|E ASHH uN 52 HEIsHD
517 Sfof A 9 ASEE S A TFCY,

(A) O ALIR A0 R 2 A 2224 FOIL}. (Correct Answer)
(B) O AQIREAMO|X|ZtR 2 A 2| 2HIE MFHO| OfL|LCt,

(C) O A= AHEO[X[2t R &= A& O[OFL LT,

(D) O A= AHAO|X|ZER £ At&O|C},

Case Study - 46 to 49 (Question Id - 91)
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The natural world is under violent assault from man. The seas and rivers are being
poisoned by radioactive wastes and chemicals. The air we breath is polluted by smoke and
tumes from factories and motor vehicles; even the rain is poisoned. Everywhere wildlife is
disappearing. The great rain forests and the frozen continents alike are seriously
threatened. However, governments and industries throughout the world (1) are increasing

their efforts to extract the earth’s mineral riches and to destroy its living resources. They
continue the destruction despite the warnings of the scientific community and the deep
concern of millions of ordinary people. But there is still hope. The forces of destruction are
being challenged across the globe - and at the spearhead of this challenge is Greenpeace.
Wherever the environment is in danger, Greenpeace has made a stand. Its scientitic
presentations and peaceful direct actions at sea and on land have shocked governments
and industries into an awareness that Greenpeace will not allow the natural world to be
destroyed. Those actions, too, have won the admiration and support of millions. (2) Now
yvou can strengthen the thin green line; you can make your voice heard in defense of the
living world by joining Greenpeace today. Thank God (3) someone’s making waves.

O HEOA &Zoids ot#statn 9 7at7| 2|l
(B) O ztz@2g MEHE CHEOHA L2l7| 28l
(C) O Greenpeace?| &5d1t5 a|7| sl

= O O =
(D) O Greenpeacelil &SI E HK]38}7| 28l (Correct Answer)

Question No.47 (Question Id - 93)
EE (e Bigez 7ty MBS A2 FAYLIN 2
(A) O Eof x| Mg Cisiet.

(B) O R0 =g ZF3|Ct.

(C) O F9of E©eto| E|0f QULL. (Correct Answer)
(D) O 22X 2odo|gt Fstn ULt

Question No.48 (Question Id - 94)

UE 1l (2) $2O WO R Y HHE UL RAYLIT} 2

(A) O X3 gAle ge =MMS ZotA & 4+ ULk,

(B) O X3 oiz{22 0joft TRIUES Lo & 4 ULt

(C)O OlF ofiRe ot =AM S EECH B 4 ULk,

(D) O olX| oiz{£ & 0|3t BH2 50 ESE F 4 ULk (Correct Answen)

Question No.49 (Question Id - 95)
EE T (3) 2 ooz 7tE HEst A2 FAY L2
(A) O mEol &g o|gst A7t TgFo|ct.
(B) O &t tA0l| M3t AFRS0| ULt
(C)O #HES 232 ot AHRE0| AL (Correct Answer)
(D) O SHYMENAE ZAISHE AFRE0| RULH.

Question No.50 (Question Id - 33)
e & o= 02 At20| HdSt= =F /X|7F Ol A2 FAR L2
A O U=
(B) O 0] (Correct Answer)

L)oo <74
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Question No.51 (Question Id - 90)
Ofefofl = AAO0| 7 RO Ciet BHC 2 &= A2 FARLLIL?

FE A DELHO[MARHE 2ot =MFAFOM AZE A2
O|lfF R: HRE Ojotfl= AIZSO0| AlZitE2S Y2 20| 24|
(A)O AQREAMAOIRZAL 2 HHO|CH

(B) O A2REAAO|X|ZHR 2 A o 2HIE MHO| OfL|Ct,

(C) O A = AHHO|X|Zt R = AHHO| OfL| L}, (Correct Answer)
(D) O A= AZAO|X|Z R = AHHO|C}

Question No.52 (Question Id - 30)
Lhe2 W|o SFet 2HHE FYLCH G2 AN HEE AS 1EAR.

A 12
A FTFN [Mestn + o o 7t
e o JEOA o= B2 glofa Sha E 3

(B)[Efm () |2 TN S7t2 w2 U0 = Ko Qloje. — —
(o) INamE=: Iy Hog Sais Mo goig oo AE

ol = MEE SDE0| AM7|1 0.
D)cior me vy 1715 LU ARIE B3 0SS Bt 8t Z Y3

=T Vo o101 Sota.

(A) O (A)-(I1), (B)-(IV), (C)~(1), (D)~(lll) (Correct Answer)
(B) O (A)-(I), (B)-(I1N), (C)-I), (D)-(1V)
(C) O (A)-(I), (B)-(I1), (C)-(IV), (D)-(1)
(D) O (A(IV), (B)-(1), (C)-(11n), (D)-(IN)

Question No.53 (Question Id - 64)
Ofgfio| = ALAO|F ROICiSH HB L2 Gt= A2 DEHA L.

FR A 1987410] BIFS 2502 CftRITS BIFEFOlo| AR BT (HEYHA}
o

AtrEA ERCH

O|fF R: 34, 43T E, ZUSO| 2tiiuE 2 S AT 7| M E 00| LB 2 7Hd 0| A O] ZiEL,

(A) O A2FREAMO|IIR 2 A 224 HO|L}. (Correct Answer)
(B) O AR EAEO|X|ZtR 2 A o SHIE-HHO|OfL|LCt,

(C) O A =AMHO|X|ZF R = A O|OFL|CY,

(D) O A=7AO|X|ZR & AHAO|CH

St o ot= S S 2= ot 2 SR S K07t A0 SO =0 X7 HZ0f| 5
o NS0 HHSIAS T OtLI2L MY E AN S=1t WR7St= 2AE LS i 2Lt

(A) O B2 TMO| +E2 HAHXIBA DS At YO 2 S Y Rt2| BIAL
B) O 30| phze o3 ARES MAFOXLE BELE § 7|0fFAC. (Correct Answer)
(C)O 43 2ec 2 B A ool HTal Lol WOl
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20|7| = SfLt,

Question No.55 (Question Id - 100)
HAo| qas 0] LHEH(intralingual) HS, oA
(intersemiotic) H <, O M| 7tX| = 2/t HY shXt= +

(A) O Roman Jakobson (Correct Answer)
(B) © P. Newmark

(C) O Lawrence Venuti

(D) O E. Nida

=00 = 2RE 001 ii°10|Ef e 3 UAe SFEIAZE UL g SoM S=2[A1Q] S5

(A) O C,D,E,F 2hatct
(B) O A, B,C,D DSt
(C)O A, B, E, F Bt 2L} (Correct Answer)
(D) O B, C, D, E 2t atCt

Question No.57 (Question Id - 41)
Ch=ol & S0IM 20160 WEAHAHLHN LS 40t o+ Aotel 2F2 FAL YN
?

(A) O ojut

(B) O Qo= Eets)

(C) O M AF2|Xt (Correct Answer)
(D) O 13t 7=

Question No.58 (Question Id - 40)
oh=0{o| M=ol SaS HEA et A
(A) O Hzjof, wra| 2Lz} —staK
(B) O a| @ A2, —BtH|
(C) O XAtHl, el 2A. - siaH|
(D) O Hg|of, a| 7t. — s{H| (Correct Answer)

o
=
|ru
=
to
N

Question No.59 (Question Id - 26)
2 28ur 2#AU= TYULICE M2 2A U= ZS HoF HA|2.

— - AN N =
MNe w7t E S50 Sifioe 2R H &+ & BF WAO|MN oFlsS I WS 50|15
S ot =0[5 W WAL 20f CHE A2 otAlch= d4 & 3 = HO[ floje
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(C) O 2EXo|Ct (Correct Answer)
(D)O He Kot

www.FirstRanker.com www.FirstRanker.com

Question No.60 (Question Id - 63)
orzfe| =& A 20| 7 ROCHS HHC 2 B A2 D2HAIR,

FEA: OSTHSH21960142 26 L0l AFARALCY.
Ol R: HY3et YZEO| Zot & WEOIRACE

(A)O AQIRE AIHO| I R2AQ &2 HYO|LCt
(B) O AQFR = AMMOIX|ZFR 2 A2 2HIE HHO| OfL|C}
(C) O A =AMHO|X| 2t R = AFAIO| OFL|LCL. (Correct Answer)

(D) O A= ANOIX|2 R & A O|CE

0]
0]

Question No.61 (Question Id - 24)
E

ThoF 2t HO| WOl HBHYOIM A =D = 25 TS |7F o EHHE o= B A
g2 H A Jo| & gz = sl Ao ZR3ICH -
(A) O 88’40| 7 (Correct Answer)

(B) O AzsHA

(C) O AX|AISHA

(D) O #HAHA

Question No.62 (Question Id - 47)
Ct2 SOIAM ot= T3 ar 2EEl 2480 Ol A2 FAYULIt 2
(A)O H Y
(8) O #to|c
(C) O £L}7| (Correct Answer)
(D) O ougtEt

Question No.63 (Question Id - 49)
Lt 01 = 3._F Ho| Aleb 2 Alof| Ciot 2F0| & 7if Ltet ULt Of Alof| Chot 20| &
T2A

rlo

A

mjo

= o A =
Ol ==0| #7|7] ™o & #=7| 2t ofZF0|H
Lt= & 5t=0f L= 7t0H et 20|

SIHZLS MoK AHEEZO| L
T\ A FALQO) 23]2 R 80| Fooat....

A BIZO| S B EIe ZUS LIEHYE ALt

B: CIY SOIASl 4R CHs Ki2f2 XALIO2N FEE ROIsHE 20 Wehs 2ol A
C

(A) O ADHZCH

By OBt
O www.FirstRanker.com
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(D) O A%fB = Ct E2|C ' '
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Question No.64 (Question Id - 75)
Aep AlCHof| ZS0{T nff E 0 FHO|C}

(A) O
(B) O
(€)O
(D) ©

483
=3 Al (Correct Answer)
dslAl

4=

Question No.65 (Question Id - 83)
=Ml S 2| 2l =2 ObM|QHof| Lot M S Falo|2t

(A) O Mgy
(B) O MsHgH
(C)O MMy
(D) O AHHHH (Correct Answer)

Question No.66 (Question Id - 60)
ME2| o™ 0| E2 FARLI 2
(A) O
(B) O
€O
(D) O

Question No.67 (Question Id - 67)

e SF7tot=0f =& 22 o C| L7t ?
(A)O =23

B)O ==

(C)O n7e=

(D) O 7}oF= (Correct Answer)

Question No.68 (Question Id - 74)

oh=0f 1623E FH 1910 7HX| 2| HIM A0 O X2l 2 ML At
Eoh Aol AU Asol B2 =2, 4 A2 Enet ¢ LEO| SMBHA 75 &

ALY,

(A) O 5H{Y7| (Correct Answer)
(B)O U=

(C)O MIFA

D) O =M=z oy

s 271 g4z 7|
A0|

—

Question No.69 (Question Id - 56)
2UYS2 X SOIRSLI 2
(A) O 1446
(B) O 1443 (Correct Answer)
(C)O 1456

(D) O 1449

Question No.70 (Question Id - 68)
e SFIHHK| D 2t 2d S0 7t cim & el A0 FAY L7k 2
www.FirstRanker.com
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(B) O E17| 2Y¥ 2Z0| (Correct Answer)

(C) O ofn{ ol HX|
D)O oz Xz

Question No.71 (Question Id - 19)
ChEol Bl ZHofl 52 TS NEAR.

7t 282 OAsk At

==
HEM0| WEH|E T s B

R
N
I
El
1o
mjo
ne
>
i

2 Mol oA HM S0l =2 EO 2Lt

Lt . d|, SAH2HO| oF &otS O|F0f L& & UCt= M=o gA=0l
Ol Xtof HIoH O 2 n|S BAX L.

(AO &
B)O ¢
(€O 7t
DO =

Question No.72 (Question Id - 80)

Chgol 5T 1 £0| YUA HZE HS D22
A2 el mee s=s ) [R45 30| oo 2338 7|20

B)2 52 a7 () |22 A= S B2 NS

DR ELE () e e R T

DITEEE (V) [27101= TSl 40| gl HS 02 ¥

(A) O (A)-(IV), (B) - (llT), (C) - (1), (D) - (1)
(B) O (A) - (1), (B) - (IV), (C) - (1), (D) - (Il) (Correct Answer)
(C) O (A)-(IN), (B)- (1), (C)- (), (D) - (IV)
(D) O (A)-(), (B)- (I, (C) - (IV), (D) (1)

Question No.73 (Question Id - 88)
CiotRl=o| MRS YE T 19| 7150 2| £
20 A st J AZT|AL] S EERlof] S/

N
-

™ Bl o
= 02 H o

(A) O
(B) O
(€)O
(D) O

ot

Correct Answer)

[l
a8

Question No.74 (Question Id - 20)
Ct22 dX[0f CHe & Z7HA] F=EOICH &= HE LEAR.

|o
tu

Statement | : Z4X[7} & 20E 232 2k 3000 ™ S=9| A HO|Ct.

Statement Il : ZX|= £ 2 Z4|0|C},

(A) O Both Statement | and Statement Il are true. (Correct Answer)
(B) O Both Statement | and Statement Il are false.
(C) O Statement | is true but Statement Il is false.
(D) © Statement | is false but Statement Il is true.

Question No.75 (Question Id - 62)  ,\\\v FirstRanker.com
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% Ot Eaken o eitir el 28,50 AR I

F

00t
it
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X

|
7

n

oF
=

o o w »
o

[N

(A)O A,B&D
(B) O B,C&D
(C) O A,B &C (Correct Answer)
(D)O A,C&D

www.FirstRanker.com

Question No.76 (Question Id - 46)
ChEol 27tet ZHZ0| A HAE A2 o= ALY L7} ?

A) [ (O EES

B)[HxHA () |E2Ae "I+
(C)|*HZHA] (ny [ZXt

(D) &t (IV) |2 CIH O] E QI 4H

(A) O (A)-(I), (B)-(1V)

(B) O (A)-(ll1), (B)-(l) (Correct Answer)
(C) O (C)-(1), (D)-(IV)

(D) O (C)-(IV), (D)-(1)

Question No.77 (Question Id - 52

~—

Ct22l Al2t AICHA BiZOo| 22 242 FAYL M2
2 Holo...... afolet
o 2N 2= A2 ST YL

& U0 LA S5 FAIR.

IS TSI MdE S22 FEN FAIL.
A= st X AE Xt2|0f

=O| OX| E=&...

(A) O z|QlZo| «HX” (Correct Answer)
(B) O A& 2T |H”

(C)O atde|ol “EX|”

(D) O gMHo| “ptm 7t 2

Question No.78 (Question Id - 65)
SO FH ALY | M 25t A2 FRAYUM 2

>

cREEE

0]
f
1
T
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D.

(A)O A,B&D
(B) O A, B &C (Correct Answer)
(C)O B,C&D
(D)O A,C&D

www.FirstRanker.com

Question No.79 (Question Id - 34)

S0 8H TEE HEX| 23 U LAYLITH?

(A) O stul —cveev

(B) O o}7] - cveV (Correct Answer)
(C)O &-cve

(D) O 5ol -cveev

Question No.80 (Question Id - 31)

L2 £27| (N. Choms k)QOI 210l =5 (Iinguisti

performance)01| I3H°F 249 == A e A

A, 20l SHE THHE 40 AN M M A0 AHES T}

B. Q0 =20 =7t ACh= A2 12| A0 50| BtEA| 2X7F UCH=
C. 0l sH2 FHHQ ASENM FHH QI A0l =3 S XSt

D. o0 s¥2 230 E XAFEO| A = U= S Totrt

(A)O A2B

(B)O B2tC

(C) O c 2D (Correct Answer)

D)O AetD

Question No.81 (Question Id - 39)
Ct22 ot=0ie] ST oist 2FOo|Ct,

A=At O{O7F 2 ACE

B. A&z oA=&, 38E, R =20 SZ00|2 o[ Tt
C.  ‘ZHAPLEZHA CHYAPZE GUCt.

D. ot=0l& LEO|OF0 £35 £0{0|Ct.

(A) O ADHGHCY,
(B) O AgbBETHIICH
(C) O A2tBetCEHSLCY.

(D) O AgtB, C, D, 25 UL} (Correct Answer)

Question No.82 (Question Id - 69)

S| 2|7t ZASE 22 0{C| 217} 7
(A)O HFE

(B) O 4t: (Correct Answer)
(C)O AXZ

D)O =&

www.FirstRanker.com




:I :1 FirstRanker.com

Ei P

ZHAIL o 92| X| 917t ot&tet Ol rE FRYLIT 2

A M22 8@ 180l 44 BEUS YL

B. M2 81 1850/ ool SN0 Cfgt S ES BECY,

C. M22 @IS0 YT 1 XZASUO| ko) XY S ULt
D. ME2E REIS0| LI HXHES LAY,

(A) O A & B (Correct Answer)
(B) O A&D
(C)O B&D
(D)O B&C

Question No.83 (Question Id - 58) www.FirstRanker.com www.FirstRanker.com

o Id - 44)

Ch=2| & = 'of| CHet StLtof F=Far 1 O|fE HEfL ALt O] &+
CHet 0| %= AS 1§A|9.

FEA

ot 280|= #H 28t =2 292 ZY X2 otE 282 Z k(X Y=t
ol®B

otz Zot2 ot 0|2 S 2|0 X[ ALt A0 El F510|0{OF 5}7| W ZO|CL St 22
SO E A8l ot Ateat Z=t, Y2 S LIEHH XE 0|0 OFZh ST}

(A) O A% B = CF %Lt

(B) O A= HX|TtBo| MYO| =2|C.

(C) O As =2|X|2BE Xe dHo|ct

(D) O A%} B = Ct E2|C}. (Correct Answer)

Question No.85 (Question Id - 54)
AlZ=0f Choh 2HOlCt.

A, AZe TR0 E cfsts SEE AZL HAS SO WLOH

m O (@) 98]
>
P
2
rir
0kt
>
%

(A) O AQt BT ST},

(B) O A2l Be} Ct YLt (Correct Answer)
(C) O A%l B2t Ct DT SiCt,

(D) O A2 B2 C2}DQE 25 Gtrt,
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